Planning Guide: Polynomials

Sample Activity 5:
Multiplying Polynomials by a Monomial Using 

Personal Strategies


Draw on prior knowledge by reviewing how the distributive property was applied when solving linear equations. Have students share their ideas on how the distributive property could be used for multiplying a polynomial by a monomial. Have an algebra tile model available for students to link the concrete and the symbolic. Have students share their ideas.

Explain that students will explore various ways to multiply polynomials by a monomial.

Present the following questions:

· 4(5x)

· –3(5n)

· 2(3x – 1)

· 2(m2 + m + 3)

· –3(x2 – x + 1)

· (5z((3z)

· 2d(4d – 3)

· (2x(4x + 3y – 2).

Ask students to solve the questions using any strategy or materials they wish. Provide enough time for students to complete the questions. They should be writing number sentences and also summarizing their personal strategy to show how they found the product for each case. Have students explain how their symbolic strategies work by relating to the concrete representations. To address different learning styles and abilities, have grid paper and algebra tiles available for students who need the concrete of the visual representation before using symbolic strategies.

Have a class discussion on the personal strategies students used to find the products. Have students think about the strategies that have been discussed and have students decide which strategy is most efficient for them to use in multiplying polynomials by a monomial.

Students should then apply their personal strategies to find similar products.

Sample personal strategies:

	Use algebra tiles.

2x(–2x + 3)

Form a rectangle, using guiding tiles for the dimensions

•
two x-tiles one side 

•
two –x-tiles and three 1-tiles along the other side.

Four –x2-tiles and six x-tiles fill the rectangle. The area is –4x2 + 6x.
2x(–2x + 3) = –4x2 + 6x

	Use the distributive property.

Multiply each term of the polynomial inside the brackets by the monomial outside the brackets.

2x(–2x + 3) = 2x (–2x) + 2x (3)


                = –4x2 + 6x















































Look For (


Do students:


have difficulty representing two different variables concretely? The factors in the multiplication statement may need to be sketched (see sample personal strategy).
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